ST 145y i = X 15
HXITE 4 . FHAMRBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
% e = * ® & # ®
B Lo = Fo SR BB PN D F2 P L 0k —f 14 18— —
RELLASR O it 50 | L.1|# 1T 19 24 24
JB o AR B P o A M R o O I I
RELIS O 50 | L1 19f 20 35 35
BT it o SR LI PR oD f P B XU —#t lepE 17 | —
EELIA 0 i 50 | Li|p 1gh 211 —|  —
W R Fo S B PR oD F R L X e 4 17 | —
EFRLIA o Hitkek 50 | L1|% 16f 19 — —
| RE [iEEcR A — | B (TR AT L e Y LR
AT LA X
1 FREEIRG R o B T — 200 15 | —
2 LECBUt o HbR 50 | L.1[F 24[: 20 36+ 36
PN ik S B A P D f2 B XS —t 14 15— —
RFRLLA o> Hitkek 50 | L1|F 18 199 24 24
I¥] /A [EREa AR — | AR (T LT LL Y L T L
A L bk
1 REIRE RN o 2 T K —d 1o 19— —
2 LS OIS 50 | 1.1 21 25% 23H 23
oy Efn it SR BT PN 0D J L 35 —t 14 15— —
ERCLLSR oD Hirksg 50 | L1|f 18 21 - -
&R AR, AEEEEE. AR, AN, AL R
R FHES
1 BRI A PN oD Rl 3 el 23pi 23 | —
2 REELS O Mg 50 | L.1|f 27 25 56fF 56
RERLAA D HiE
1 REIRE RN O 2 A O —l 1500 20—  —
2 EEEDAA O 50 | L1 g 2t 3y 31
2 YT R SR BT PN D 2 T M X I —si 14 17 - -
LFRLIA O i 50 | 1.1]# 16F: 21 24 24




SF0 145 i = X 25
HXITE 4 . FHAMRBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
7 PR H 2 S 4 MBI P 0D £ D o DX ’ jﬁm 1*;&‘@ 1@ : -’ ’
EFCLLASN D it 50 | 1.1 (% 19 207 35 35
&| kil B 50 | 1.1 e s
JEFE ot AR BT PN o R O —i 15 13 | —
EERLIA o Hitkek 50 | L1|F 19 19 @ — —
Nl Bl R oL PR SR B AR PN oD S R el 14pn 17 | —
LIS O Hi 50 | L1 16 21 24 24
& =XH P S e B b o8 PR 0D JE Rt Xt —IH o 14pE 17 | —
LIS 0 i 50 | L1 168 21 248 24
L| #Jit o e L ol P 0 i Y S 3 el 14 153 | —
LFRLLA o Hie 50 | L.1|% 16 19H 24 24
Fran THAEREIRIZARA S 41 % M
1 Al R AT
(1) RSERE g o 5 Hi X gk —f 15 200 —| —
(2) Lo g 50 | L1|H 22 249 234 23
2 bR A LR 50 | 1.1 [T b T L T b M b
RFRLAA D Hitks
1 bR — | BE#R |t T LT e L T
2 LT PR
(1) FEEiR Py o B T B i —fidi 15 20 0 — —
(2) kitEist ol 50 L1(F 29 24 23 23
BRAR R R BT P 0D B I —ti 14 15— —
ERCEASS D 50 | L.1|h 16 19 24 24
A F AR BT P o A M ROk I I I
RERLIA O I 50 | L1|f 23 20 | —
ET [k (%57 — | BEAR (7 L YT BT L T LY
AT AR K ek
1 RN o B A O —J#ti 18f@ 15 - -




1.

ST 145y v R XK 3E
HXITE 4 . _ PHBBEE
S (TR wass @M m oW g [P ACEERTEECEA RS
L| #ET 2 kRS OHIK 50% 1.1%43 2§EP Z{TEP 3%3 3? i
ezl b Xk — | BEAR (T LE T b L T L
AT {L A X
1 Mz, Mo, REREE, MR
o, Bt Rl BER /N
NI, #8E, THRFAR, EM. FEH
ZHh, T, NZE. F/NMRE, {AH
. ARELEM, R, IR, RR
(1) FE3edRBUHEtr o 2 F Hh I —J#ti 16rﬁ£ 25 | -
(2) EELiSt ot 50 | 11| 23 44 34 34
2 LRI o Hitk
(1) FIREHIA o 2 M R E T S
(2) EkEEES O HIER 50 | 1.1|% 18 30 24 24
NS 5 SR B HIR PN oD i FH ML S —f 1468 13 — —
EFELAA O 50 | L.1|fo1gfF 21fF 24fF 24
7| KESFE [iREaR A% — | BE#L |7 AT LT e L
AT LA (X Ik
1 RERBHE N 0 B Al X —t 18 23— —
2 _ERCEA Ot 50 | 1.1|% 201 22 37 37
re| R [iRcRls: 1 — | BE#R |t T LT e L T
T LR I
1 BREEIREME P 0D B T i —d 2oMi 26 20—  —
2 _LEBsA o ik 50 | 1.1 (% 25 agh 3o 32
il R R BT P 0D B I —ti 14 15— —
ERCEASS D 50 | L.1|h 16 19 24 24
i N [ikcl=es — | BRAR (T I LR I L T L
T LR Xk
1 RO o B A il X —Hl 1T 26 0 —| —
2 LFELh o g 50 | Li|p 23 41—  —
L ENE % SR BT PN oD S A I — i Mﬁ 15 - -




SF0 145 i = X 1H
HXITE 4 . FHEBE
e R ks @ A o w4 [P PEEERTIBEITOGES
GEPN EEELIA o> iU 50% 1.1%4J 1243 1g¢ 2Z¢ 2i ’
A h o2 4 M I PR 0D 2 P 3 DX —F 1 13— —
LELIA 0 HE 50 | L1|f 15 21 34h 34
A&k il I — | B&#R [ bl BT b T b T b 0
[iRcaglor | dEe
1 FRb, BAES, MHAH, EERH
(1) FERELHIEA o = H —#t 15 26 0 — —
(2) EELiSt ot 50 | 11| 19 28+ 47 47
2 LRI o Hitk
(1) FIREHIA o 2 M —ft 15 18 | —
(2) EkEEES O HIER 50 | 1.1|% 16 204 25 25
ARER o SR BT PN oD 2 P L RS —fl 15W 15 | —
ERRLIA O it 50 | L.1|% 19 207 25 25
i b X g
1 FBARIR) RS Lt X i R L 2 ST 1 2 1 1 e 11
THIX N
2 LR ot 50 L. 1 (77 k2T b i - -
AT AR DI
1 REEIRME N o B A Hi X I —Rt o 14Ei 17 | —
2 LR oM 50 | L1|HF 188 211 —| —
5 MGA % SR B A PN D R X0 —t 14l 130 | —
ERLLASR D i 50 | L.1|% 16 194 24 24
EA 3 B B PN D 2 Y L 3 e o4pi 17 | —
EFRLASN o MR 50 | 1.1|f 16 20/ 23 23
A R T =t 5 | 1.1 - - - -
e T i — | B (AL HERT HL e H e HL T
T R X I 50 | 1.1 e e
RIS [iREx A4 — | BB | b AT L e S b
T A X dk




SF0 145 i = X 5E
HXITE 4 . FHAMRBEE
e R ks @ A o w4 [P PEEERTIBEITOGES
5 s | ROERREN O B o I sV s e I
2 _LEELA o M 50 | 1.1 (% 21f 207 33 33
RIS BT o AR B P o A M R o O I I
RELIS O 50 | L1 19f 20 35 35
ELitkag e [kl — | BEAR (T LT BT L T LY
AT AR K ek
1 SRR o R A % Y I
2 RELEA o 50 | L1|# 24Ej 22 37 37
R A AT o R BRLHIER PN oD o P L 3 —t 1spE 17 | —
QECEINGT: 50 | 11| 18[: 234 35 35
[FE AR b E IRk — | BRHR (v HE Y e M b T
A AR K
1 REERE MG o 2 DO — it 17r@ 260 —| -
2 RECEAh oot 50 | L1|% 23 41 36 36
[E2pE IR FE IR BLHIIR N D J= M X3 —f 15 14 - -
ERELAS 0 Hit 50 | L1|F 16F 197 24 24
[EzFiadil) E=et 50 | 1.1 [ditkdEdiEdE - —
sy lall i SR B I PN oD R PR M R —fl 4fpn 17 - —
HFREAA O i 50 | L1 18 211 - -
e R SR B P oD 2 P M X3 —l 13 17— —
ERRAA O H g 50 | Li|p g o211 - -
W R R BT P 0D B I —ti 14 15— —
ERCEASS D 50 | L.1|h 16 19 24 24
INIE (ke |qEs=
1 ARG FCH T X e L1 I8 1 51 551 A 5l
THIX N
2 LA iR
(1) BRI — | BHR | Sk HERT H e B ME T B T
(2) FRLPIA DI 50 | 1.1 |77 bl HET B HE B HEAT B E




1.

AR UES % R % 65
R4, ; R E

%, fi i [ E & PE AT A AR R 9 D R R

] — .
g TR xkEs E B W v o B B | W |k | e | 08 [

%

3

] e & 1] &

S RALH T LR P

1 #F, NEE, e, &R, bbb
C PEIBZI, IR, AR

(1) BEEREHRA D & H X ik —ifdi 16 21 — —
(2) EsEuistosig 50 L1|% 2Uf 314 41 41

2 R, IR, HEHE, W

(1) BEE RGN o & Xk —d 16 17 - —
(2) LE8is oHg 50 11)|d 19 200 24k 24

3 LRSS OHR

(1) BB g P o & M Xk —ldi 13F@ 17 — —
(2) LEEis oHg 50 L1ff 14 21 35/ 35

st i — | Bk | L HERT HL e e b




